Multiplying a Binomial by Two Trinomials (1)

Simplify each expression.

Loyt 4+ ) (99" + 8y* — ) (3y* — 2y + 4)

DO

B HAN(PH+Tf+6) (=4 —9f —6f)

3. (22 — 6)(22° — 42t +82%)(—22° + 527 — 82)

1 (=v 4+ 3) (T 4+ 4v + 4) (50 — 6v + 9)

5. (=5¢" +2¢°) (4q" + 3¢ + 2¢°)(9¢* — 2¢ — 3)
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Multiplying a Binomial by Two Trinomials (I) Answers
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Simplify each expression.

(Y )9y 8y — P (BY 2y +4)
= —27y" + 15y” — 13y° — 21y" + 30y° — 4y°

B AN TS+ 6)(—4 =9/ = 6f)
= —32f7 —312f% — 892f° — 1140 f* — 672f> — 144 f*

(22— 6)(22° — 42" + 82°)(—22° + 527 — 82)
— —82Y +602° — 21227 + 4562° — 5602° + 3842*

(—v 4 3)(Tv* + 4v + 4) (5v* — 60 + 9)
— —350° + 1270v* — 1250 + 16502 + 108

- (=5¢* +2¢°) (4" + 3¢* + 2¢°)(9¢* — 2q — 3)
— —180¢" — 23¢° + 38¢% + 65¢" + 4¢° — 12¢°
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